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Algebra 1 Name NE Y ID: 1

Chapter 5 Review Date Period

FUNC.c.1 Given two points, find the slope of a line. Clearly show your work. Label your your
calculations and final answer using the correct variable notation. Circle your final answer.
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FUNC.c.2 Write the function of a line in slope-intercept form, given a point and the ordered
pair for the y-intercept.

1) Clearly show work to find the slope using the correct variable notation.

2) Identify the y-intercept using the correct variable notation. S—

3) Write the linear function in slope intercept form usin{ function notation. >
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Write the point-slope form of the equation of the line through the given point with the given
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FUNC.c.3 Write the function of a line in slope intercept form, given two points.
1) Clearly show work to find the slope using the correct variable notation.

2) Clearly show work to find the y-intercept using the correct variable notation.
3) Write the linear function in slope intercept formlEing function notation.
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Graph equations in point-slope form. (1) State the slope (m=) and Point (_, ).
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Graph equations in Standa ny graphing method. Show work clearly. ——
—2 ;

= & = -
15) 6x—5y=(—30 /aj)’- S(~ Y 16) 2x—y=4 l =R b ]
XanT (A,6) N~ oY)
] :‘30 2 wo - - X X 4 : Y:/Lt—
X %_x =z Y4 ’_&? 30 é/ Y A —
Xs -8 Xz 3 y: -y
17) " 18) .
3/7 5
74 ] _
. /1

A
=)
|
=
Il
oo
I
N
e
|
=
|
=)
Y
I
N
|
FSY
L
(5]
I
(o)
|
ks L
=Y

Iz B %

Parallel functions (1) State the slope of the given function, Then (2) Give the slope of parallel
functions. 7+ G
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Perpendicular functions (1) State the slope of the given function, Then (2) Give the slope of
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SET #1... FUNC.c.4 Given two points from different functions, determine which functions

justifying your decisions are
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